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1. What is the Internet of Things (loT)?

a) A network of interconnected computers

b) A network of physical devices embedded with sensors and software that enable them to
collect and exchange data

¢) A network of virtual reality devices

d) A network of satellites orbiting the Earth

Answer: b) A network of physical devices embedded with sensors and software that enable
them to collect and exchange data

Explanation: IoT refers to a network of physical objects or “things” embedded with sensors,
software, and other technologies for the purpose of connecting and exchanging data with
other devices and systems over the internet.

2. Which of the following is a characteristic of 10T?

a) Limited connectivity

b) Static data collection

¢) Real-time data monitoring
d) Centralized control

Answer: c) Real-time data monitoring

Explanation: Real-time data monitoring is a key characteristic of 10T, allowing devices to
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collect and transmit data instantly, enabling timely decision-making and actions.

3. What is the primary focus of M2M (Machine-to-Machine) communications?

a) Human-to-machine interaction

b) Interactions between physical devices without human intervention
¢) Machine learning algorithms

d) Virtual reality simulations

Answer: b) Interactions between physical devices without human intervention

Explanation: M2M communication involves devices communicating directly with each other
without human involvement, enabling automated processes and data exchange.

4. How does loT differ from M2M?

a) loT involves human-to-machine communication, while M2M does not

b) M2M involves connecting devices to the internet, while 10T does not

) loT involves broader connectivity and applications beyond just machine-to-machine
communication

d) M2M focuses solely on wireless communication, while loT encompasses both wired and
wireless communication
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Answer: ¢) loT involves broader connectivity and applications beyond just machine-to-
machine communication

Explanation: While M2M focuses specifically on direct communication between devices, loT
encompasses a wider range of technologies, applications, and connectivity beyond M2M
communication.

5. What does WoT stand for in the context of loT?

a) World of Things
b) Web of Things
¢) Wall of Things
d) Way of Things

Answer: b) Web of Things

Explanation: The Web of Things (WoT) refers to the extension of the loT paradigm to enable
seamless integration and interaction of connected devices through standard web protocols
and interfaces.

6. Which component serves as a bridge between IoT devices and the internet?
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Answer: b) loT Gateway

Explanation: An loT Gateway acts as an intermediary device that connects IoT devices to the
internet or other networks, enabling data transmission and communication between devices
and backend systems.

7. Which of the following is a physical component of an loT ecosystem?

a) Cloud computing

b) Data analytics software
c) Sensors

d) Data visualization tools

Answer: c) Sensors

Explanation: Sensors are physical components embedded in 10T devices that enable the
collection of data from the surrounding environment.
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8. What is the primary function of an loT Proxy?

a) Data processing
b) Data storage
c) Data encryption
d) Data routing

Answer: d) Data routing

Explanation: An loT Proxy facilitates communication between loT devices and other

components of the loT ecosystem by routing data between them.

9. Which network configuration is typically used for connecting loT devices within a localized

area, such as a home or office?

a) loT LAN
b) loT WAN
c) loT MAN
d) loT PAN

Answer: a) loT LAN
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Explanation: loT LAN (Local Area Network) is commonly used for connecting loT devices
within a confined geographical area, such as a home, office, or industrial facility.

10. What is the primary purpose of an loT Node?

a) Data storage

b) Data processing
c) Data transmission
d) Data visualization

Answer: c) Data transmission

Explanation: An loT Node is a physical device equipped with sensors and communication
capabilities to collect data from its environment and transmit it to other nodes or gateways
within the loT ecosystem.

11. Which of the following is a characteristic of loT-enabled applications?

a) Limited scalability

b) Single-purpose functionality
c) Real-time data analytics

d) Offline operation
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Answer: ¢) Real-time data analytics

Explanation: loT-enabled applications often involve real-time data analytics, enabling
immediate insights and decision-making based on the data collected from connected devices.

12. Which component of an loT ecosystem is responsible for aggregating and analyzing data
from multiple 10T devices?

a) loT Gateway
b) 1oT Node
c) loT Proxy
d) 1oT Cloud

Answer: d) loT Cloud

Explanation: The loT Cloud component is responsible for aggregating, storing, and analyzing
data from multiple 10T devices, often providing scalable and flexible cloud-based solutions for
loT applications.

13. Which communication protocol is commonly used for connecting loT devices to a local
network?
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Answer: ¢) Zigbee

Explanation: Zigbee is a low-power, low-data-rate wireless communication protocol
commonly used for connecting loT devices within a local network or home automation

system.

14. What is the primary purpose of loT enablers?

a) To hinder the adoption of IoT technology

b) To facilitate the development and implementation of 10T solutions
¢) To limit the scalability of loT ecosystems

d) To increase the complexity of loT architectures

Answer: b) To facilitate the development and implementation of l10T solutions

Explanation: loT enablers are technologies, tools, and frameworks designed to simplify and
accelerate the development, deployment, and management of IoT solutions.

EasyExamNotes.com loT MCQs



EasyExamNotes.com

loT MCQs

15. Which of the following is an example of a modern-day IoT application?

a) VCR (Video Cassette Recorder)
b) Rotary phone

¢) Smart thermostat

d) Fax machine

Answer: c) Smart thermostat

Explanation: A smart thermostat is an example of a modern loT application that enables
users to remotely monitor and control their home heating and cooling systems using
connected devices and smartphone apps.

16. In 10T terminology, what does “loT reference architecture” refer to?

a) A standard blueprint or framework for designing and implementing loT solutions
b) A specific model of 10T device used as a reference for compatibility testing

c) A regulatory document outlining restrictions on loT technology

d) A collection of historical data related to 10T deployments

Answer: a) A standard blueprint or framework for designing and implementing loT solutions
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Explanation: IoT reference architecture provides a standardized approach or framework for
designing and implementing loT solutions, ensuring interoperability, scalability, and security.

17. Which type of network configuration is suitable for connecting loT devices over a wide
geographical area, such as across different cities or countries?

a) loT LAN
b) loT WAN
c) loT MAN
d) loT PAN

Answer: b) loT WAN

Explanation: loT WAN (Wide Area Network) is suitable for connecting loT devices over a wide
geographical area, providing long-distance communication capabilities across different cities,
regions, or countries.

18. What is the function of a basic microcontroller in an loT device?

a) Data storage
b) Data processing
c) Data transmission
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d) Data visualization

Answer: b) Data processing

Explanation: A basic microcontroller in an loT device is responsible for processing data
collected from sensors, performing computations, and controlling device operations based on
programmed instructions.

19. Which component of loT ecosystems is responsible for converting analog signals from
sensors into digital data for processing and transmission?

a) loT Gateway
b) 1oT Node

c) loT Sensor
d) loT Cloud

Answer: c) loT Sensor

Explanation: loT sensors are physical components that detect and measure changes in the
environment, converting analog signals into digital data for processing and transmission by
other IoT components.
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20. Which of the following is NOT a key characteristic of loT?

a) Interconnectivity

b) Autonomous operation

c) Real-time data processing
d) Limited scalability

Answer: d) Limited scalability

Explanation: Scalability is a key characteristic of 10T, enabling the expansion and growth of
loT ecosystems to accommodate a large number of connected devices and users.

21. Which network configuration is typically used for connecting IoT devices within a personal
area, such as a room or a small area?

a) loT LAN
b) loT WAN
c) loT PAN
d) loT MAN

Answer: c) loT PAN
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Explanation: loT PAN (Personal Area Network) is suitable for connecting loT devices within a
limited personal area, such as a room or a small vicinity, using technologies like Bluetooth or
Zigbee.

22. What is the primary role of an loT Gateway in an loT ecosystem?

a) Data storage

b) Data processing
c) Data transmission
d) Data visualization

Answer: c) Data transmission

Explanation: An loT Gateway facilitates data transmission between loT devices and other
components of the loT ecosystem, such as cloud platforms or backend systems, enabling
seamless communication and integration.

23. Which of the following is NOT a component of an loT ecosystem?

a) loT Router
b) lIoT Sensor
c) loT Cloud
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d) loT Application

Answer: a) loT Router

Explanation: While routers may be used within loT networks for data routing purposes, they
are not typically considered as standalone components of 10T ecosystems.

24, What is the primary purpose of loT Proxy?

a) Data storage
b) Data processing
c) Data encryption
d) Data routing

Answer: d) Data routing

Explanation: loT Proxy facilitates communication between IoT devices and other components
of the loT ecosystem by routing data between them.

25. Which of the following communication protocols is commonly used for short-range
communication between IoT devices?
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Answer: a) Bluetooth

Explanation: Bluetooth is a common communication protocol used for short-range wireless
communication between loT devices, such as smartphones, wearables, and smart home
devices.

26. Which component of an IoT ecosystem is responsible for aggregating and analyzing data
from multiple 10T devices?

a) loT Gateway
b) 1oT Node

¢) loT Cloud

d) 1oT Sensor

Answer: c) loT Cloud

Explanation: The loT Cloud component is responsible for aggregating, storing, and analyzing
data from multiple 10T devices, often providing scalable and flexible cloud-based solutions for
loT applications.
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27. What is the primary function of an loT Node?

a) Data storage

b) Data processing
c) Data transmission
d) Data visualization

Answer: c) Data transmission

Explanation: An loT Node is a physical device equipped with sensors and communication

capabilities to collect data from its environment and transmit it to other nodes or gateways

within the loT ecosystem.

28. Which network configuration is typically used for connecting IoT devices within a localized

area, such as a home or office?

a) loT LAN
b) loT WAN
c) loT MAN
d) loT PAN

Answer: a) loT LAN
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Explanation: loT LAN (Local Area Network) is commonly used for connecting loT devices
within a confined geographical area, such as a home, office, or industrial facility.

29. What is the primary purpose of an loT Proxy?

a) Data storage
b) Data processing
c) Data encryption
d) Data routing

Answer: d) Data routing

Explanation: An loT Proxy facilitates communication between loT devices and other
components of the loT ecosystem by routing data between them.

30. Which component serves as a bridge between IoT devices and the internet?

a) loT Node

b) loT Gateway
c) loT Proxy

d) loT LAN
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Explanation: An loT Gateway acts as an intermediary device that connects IoT devices to the

internet or other networks, enabling data transmission and communication between devices

and backend systems.
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